Differentiate the functions

(a) 
$$f(x) = \arctan(3x^2 - 1)$$
.  
 $f'(x) = \frac{1}{1 + (3x^2 - 1)^2} \cdot (3x^2 - 1)^2$ 

$$= \frac{6x}{1 + (3x^2 - 1)^2}$$

(b) 
$$h(t) = ancsin(t^3e^t)$$
.

$$h'(t) = \frac{1}{\sqrt{1-(t^2e^t)^2}} \cdot (t^3e^t)'$$

$$= \frac{3t^2e^t + t^3e^t}{\sqrt{1-(t^3e^t)^2}} \quad \text{or} \quad \frac{(3t^2+t^3)e^t}{\sqrt{1-t^6e^t}}$$

(c) 
$$g(x) = ln(4x - 6x^2)$$
.

$$g(x) = \ln(4x - 6x^2).$$

$$g(x) = \frac{1}{4x - 6x^2} \cdot (4x - 6x^2)'$$

$$= \frac{4 - 12\%}{4\% - 6\%^2}$$

(d) 
$$y = \cos(\log_{+}(\alpha))$$

$$(\cos(x))' = -\sin(x)$$

$$(\log(x))' = \frac{1}{x \ln 4}$$

$$y' = -\sin(\log_{\phi}(x)) \cdot (\log_{\phi}(x))'$$

 $\left(\operatorname{anetan}(x)\right) = \frac{1}{1+x^2}$ 

 $(ancsin(x)) = \frac{1}{\sqrt{1-x^2}}$ 

 $\left( \ln(x) \right)' = \frac{1}{\alpha}$ 

or 
$$\frac{2-6\%}{9\times -3\%^2}$$

$$\ln y = \ln \frac{\sqrt{A}}{2x^7 e^{4x^2+7x}} \qquad (u(\frac{A}{B}) = hA - luB)$$

$$\ln (A^B) = B \ln A$$

$$= 5(n(4x+1)+2(n(6-5x)-(n2-9(nx-(4x^2+7x)$$

$$\frac{1}{y} \cdot y' = \frac{5}{4x+1} \cdot 4 + \frac{2}{6-5x} \cdot (-5) - 0 - \frac{9}{x} - (8x+7).$$

Solve for y':

$$y' = y \cdot \left[ \frac{20}{4x+1} - \frac{10}{6-5x} - \frac{9}{x} - 8x - 7 \right].$$

$$= \frac{(4\chi+1)^{5}(6-5\chi)^{2}}{2\chi^{9}}\left[\frac{20}{4\chi^{2}+7\chi}\left[\frac{20}{4\chi+1}-\frac{10}{6-5\chi}-\frac{9}{\chi}-8\chi-7\right].$$

G2. Find tangent line to  $x^{4}+x^{2}y^{2}+y^{3}=3$  et (1,1).

Differentiate the eg: 
$$4x^3 + 2xy^2 + x^2 \cdot 2y \cdot y' + 3y^2 \cdot y' = 0$$

Solve for 
$$y'$$
:  $(\chi^2 \cdot 2y + 3y^2)y' = -(4\chi^3 + 2\chi y^2)$ 

$$y' = \frac{-(4x^3 + 2xy^2)}{2x^2y + 3y^2}$$

Slape at (1,1): 
$$y'|_{(1,1)} = \frac{-(4+2)}{2+3} = -\frac{6}{5}$$

Tangent line: 
$$y-1=-\frac{6}{5}(x-1)$$
 or  $y=-\frac{6}{5}x+\frac{4}{5}$ 

Q3. Find tangent line to 
$$xe^y = x-y$$
 at  $(0,0)$ .

Solve for 
$$y'$$
:  $(xe^{y}+1)y'=1-e^{y}$ 

$$y' = \frac{1 - e^y}{xe^y + 1}$$

Then slope at (0,0) is 
$$y'(0,0) = \frac{1-e^0}{0+1} = 0$$

Tangent like is 
$$y-0=0.(x-0) \Rightarrow y=0$$
.

Q4. Find tangent line to 
$$y \sin(2x) = x \cos(2y)$$
 at  $(\frac{\pi}{2}, \frac{\pi}{4})$ .

Pifferentiate of: 
$$y'\sin(ux)+y\cos(ux)\cdot 2=(\cos(uy)+x\cdot(-\sin(uy))\cdot 2y'$$

Silve for 
$$y'$$
: 
$$y'\left(\sin(2x)+2x\sin(2y)\right)=\cos(2y)-2y\cos(2x).$$

$$y' = \frac{(55(24) - 24(55(1x))}{5ii(1x) + 1x5ii(14)}$$

Shope at 
$$(\frac{\mathbb{Z}}{\mathbb{Z}},\frac{\mathbb{Z}}{\mathbb{Z}})$$
: 
$$y \Big|_{(\frac{\mathbb{Z}}{\mathbb{Z}},\frac{\mathbb{Z}}{\mathbb{Z}})} = \frac{\cos(\frac{\mathbb{Z}}{\mathbb{Z}}) - \frac{\mathbb{Z}}{2}\cos(\pi)}{\sin(\pi) + \pi\sin(\frac{\mathbb{Z}}{\mathbb{Z}})} = \frac{O - \frac{\mathbb{Z} \cdot (-1)}{O + \pi \cdot 1} = \frac{\mathbb{Z}}{\pi} = \frac{1}{2}$$

Tougest live is: 
$$y = \frac{\pi}{4} = \frac{1}{2}(x - \frac{\pi}{2}) \Rightarrow y = \frac{1}{2}x$$
.

$$n - E.l.$$
 three to  $u = 5x^3 \ln(x)$  at (1.0).

Q5. Find tangent line to 
$$y=5x^3\ln(x)$$
 at (1.0).

Take derivative: 
$$y' = 15x^2 \cdot (n(x) + 5x^3 \cdot \frac{1}{x})$$
  
=  $15x^2 \cdot (n(x) + 5x^2)$ 

Slape is : 
$$|y'|_{x=1} = |5\cdot 1\cdot \ln(1) + 5\cdot 1^2 = 5$$

Tongent line is: 
$$y-0=5(x-1) \Rightarrow y=sx-5$$

Q6. 
$$\vec{r}(t) = \langle 2\sin(t) + 2\cos(t), 3\cos(t) - 3\sin(t) \rangle$$
.

$$T'(t) = \langle 2(\cos(t) - 2\sin(t)), -3\sin(t) - 3\cos(t) \rangle$$

$$\dot{\Gamma}'(\frac{37}{3}) = \langle 2 \cdot (3) - 2 \cdot (\frac{3}{3}) - 2 \cdot (\frac{3}{3}) - 3 \cdot (\frac{3}{3}) - 3 \cdot (\frac{3}{3}) \rangle .$$

$$= \langle 2 \cdot (-\frac{1}{2}) - 2 \cdot \frac{\sqrt{3}}{2}, -3 \cdot (-\frac{1}{2}) \rangle .$$

$$= \langle -1 - \sqrt{3}, -\frac{3\sqrt{3} + 3}{2} \rangle$$

(b) Tangent line at t=0:

tangent vector 
$$\Gamma'(0) = \langle 2\cos(0) - 2\sin(0), -3\sin(0) - 3\cos(0) \rangle$$
  
=  $\langle 2, -3 \rangle$ 

slape: 
$$m = \frac{-3}{2}$$
.

$$\vec{r}(0) = \langle 2 \sin(0) + 2 \cos(0), 3 \cos(0) - 3 \sin(0) \rangle$$
=  $\langle 2, 3 \rangle$ 

Tangent line is: 
$$y - 3 = -\frac{3}{2}(x - 2)$$

## (C) Find horizontal tangent line:

$$y'(t) = 0$$
  $\Rightarrow$   $-3\sin(t) - 3\cos(t) = 0$ .

$$\Rightarrow$$
  $5in(t) = -455(t)$ .

$$\Rightarrow$$
  $tan(t) = -1$ .

plug in:  $\overrightarrow{r}(\frac{37}{4}) = \langle 2.5.(\frac{3}{4}) + 205(\frac{37}{4}), 305(\frac{37}{4}) - 35.(\frac{37}{4}) \rangle$ .  $(+2\frac{37}{4})$   $= \langle 2.6 + 2.6 \rangle$ ,  $3.6 \cdot (\frac{5}{4}) - 3.6 \cdot (\frac{57}{4}) \rangle$ .

$$= < 0, -3\sqrt{2} >$$

plug in (t: 
$$\frac{7}{4}$$
) =  $\langle 254(\frac{7}{4}) + 208(\frac{7}{4}), 365(\frac{7}{4}) - 354(\frac{7}{4}) \rangle$ .  
=  $\langle -\sqrt{2} + \sqrt{2}, \frac{3\sqrt{2}}{2} + \frac{3\sqrt{2}}{2} \rangle$   
=  $\langle 0, 3\sqrt{2} \rangle$ .

$$\gamma(t)=0$$
.  $\Rightarrow$  2004th - 25 $\bar{\nu}_{i}(t)=0$ .

$$\Rightarrow$$
 tanks) = 1.

$$\Rightarrow t = 4 \quad \text{or} \quad 54. \quad (o \le t \le 2\pi).$$

$$p_{y_{n}}^{i_{n}}(t=\bar{x}): \dot{\Gamma}(\bar{x}) = \langle 2 \cdot (\bar{x}) + 2 \cdot (\bar{x}), 3 \cdot (\bar{x}) - 3 \cdot (\bar{x}) \rangle.$$
  
=  $\langle 2 \cdot (\bar{x}) + 2 \cdot (\bar{x}), 3 \cdot (\bar{x}) - 3 \cdot (\bar{x}) \rangle.$ 

$$phigmin_{\{t: \{i\}\}}: \hat{\Gamma}(i) = \langle 2 \le (i) + 2 \cos (i) , 3 \cos (i) - 3 \le (i) \rangle$$
  
=  $\langle 2 \cdot i + 2 \cdot i = , 3 \cdot i = -3 \cdot i = \rangle$ 

$$Q7. \quad \vec{r}(t) = \langle t^4 - 24t + 5, |ot^5 + 1 \rangle.$$

Compute 
$$\vec{\Upsilon}'(t) = \langle 4t^3 - 24 , 50t^4 \rangle$$

plug in t=1: 
$$\vec{\tau}'(1) = \langle 4-24, 50\cdot 1 \rangle = \langle -20, 50 \rangle$$
.

(b) Tangent line at to:

$$\vec{r}'(0) = \langle 4 \cdot 0^3 - 24, 50 \cdot 0^9 \rangle = \langle -24, 0 \rangle.$$

slope: 
$$M = \frac{0}{-24} = 0$$

y wordinate: 
$$\vec{r}(0) = \langle 0^4 - 14.015, 10.05 + 1 \rangle = \langle 5, 1 \rangle$$
.

( point-slope : 
$$y-1 = 0.(x-5) \implies y=1$$
)

(E). Find harizontal tangent line:

$$\vec{r}'(t) = \langle 4t^2 - 24, 50t^4 \rangle$$
 =>  $\chi'(t) = 4t^2 - 24, y'(t) = 50t^4$ 

horizontal: 
$$y'(1) = 0$$
.  $\Rightarrow 50t^4 = 0$   $\Rightarrow t = 0$ .

So it reduces to (b): 
$$y=1$$
.

(d) Vertical tangent (ine:

$$\begin{cases} \chi'(t) = 4t^3 - 14 \\ y'(t) = 50t^4 \end{cases}$$
 Vertical target:  $\chi'(t) = 0$ .

$$\Rightarrow 4t^3-14=0 \Rightarrow t^3=6. \Rightarrow t=\sqrt[3]{6}.$$

Q8. Given 
$$\vec{r}(t) = \langle t, 2t^2 \rangle$$
. Find angle between velocity and acceleration vectors. at  $t=1$ .

Compute: 
$$\vec{v}(t) = \vec{r}'(t) = \langle 1, 6t^2 \rangle$$
  
 $\vec{a}(t) = \vec{v}(t) = \langle 0, 12t \rangle$ 

plug in 
$$t=1:$$
  $\vec{v}(1)=\langle 1,6\rangle$   $\vec{a}(1)=\langle 0,12\rangle$ 

$$\left(\vec{A} \cdot \vec{B} = |\vec{A}| \cdot |\vec{B}| \cos \theta \implies \cos \theta = \frac{\vec{A} \cdot \vec{B}}{|\vec{A}| \cdot |\vec{B}|}\right)$$

$$CSSO = \frac{\langle 1,6\rangle \cdot \langle 0,12\rangle}{|\langle 1,6\rangle| \cdot |\langle 0,12\rangle|} = \frac{72}{\sqrt{1+6^2 \cdot 12}} = \frac{6}{\sqrt{37}}$$

$$\theta = \operatorname{anc cos}\left(\frac{6}{\sqrt{37}}\right)$$
.

$$Q9$$
. Find the point(s) on  $y=t^3-3t^2-12t$ ,  $x=\frac{1}{2}t^2-t$   
So tangent like is parallel to  $x=4t$ ,  $y=1-6t$ .

Tangent vector is 
$$x' = t - 1$$
 and  $y' = 3t^2 - 6t - 12$   
Shape at t is:  $\frac{y'}{\alpha'} = \frac{3t^2 - 6t - 12}{t - 1}$ 

This slope is the same as 
$$\frac{-6}{4}$$
. (Given  $\begin{cases} y=1-6t \\ \chi=4t \end{cases}$ )

$$3t^{2}-61-12 = -\frac{6}{4} = -\frac{3}{2}$$

$$6t^{2}-12t-24=-3(t-1).$$

$$6t^{2}-9t-27=0.$$

$$3(0t^{2}-3t-9)=0 \Rightarrow 3(2t+3)(t-3)=0.$$

$$\Rightarrow t=3 \text{ and } t=-\frac{3}{2}.$$
So paids are: 
$$\begin{cases} \gamma(3)=\frac{1}{2}\cdot\frac{3}{2}\cdot3=\frac{3}{2}\\ \gamma(5)=\frac{3}{2}\cdot-\frac{3}{2}\cdot12\cdot\frac{3}{2}-\frac{3}{6}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=(\frac{1}{2})^{2}-3(\frac{1}{2})^{2}-12(\frac{1}{2})=\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=(\frac{1}{2})^{2}-3(\frac{1}{2})=\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=(\frac{1}{2})^{2}-3(\frac{1}{2})=\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=(\frac{1}{2})^{2}-3(\frac{1}{2})=\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=(\frac{1}{2})^{2}-3(\frac{1}{2})=\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{6})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{2})^{2}-3=\frac{21}{8}\\ \gamma(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{2}\cdot(-\frac{1}{8})^{2}-3=\frac{1}{8}\\ \gamma(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{3}{6})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-\frac{1}{8})=\frac{1}{8},\frac{63}{8}.\end{cases}$$

$$\begin{cases} \chi(-\frac{1}{8})=\frac{1}{8}\cdot(-$$

 $v(2) = 32 - 32 \cdot 2 = -32$  ft/s.